
 
 Hot Under The Collar  

Points 
Section 
points 

 
1. 

 
Using John’s rule 
F = (20 x 9) ÷ 5 + 32 
F = 68 
 
Using Anne’s rule 
F = 20 x 2 + 30 
F = 70 
 
Anne is 2° too high 
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2. 
 
 
 

 
Listing 
°C              John °F              Anne °F 
 5                  41                          40 
 9                  48.2                       48 
10                 50                          50 
15                 59                          60 
20                 68                          70 
 
Alternatively, graphs may be drawn. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Using Anne’s method, for temperatures above 10°C, the °F is 
too high. 
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